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A coin is tossed 500 times with the

following frequencies of two outcomes.
Uk [ddh Bl 500 I 3STAT Sdl & df JoT.

P(H)-': &"L?_:O"ﬂ%m urd Bld &
Soo ug:/. Head/™d 240 times

KTL 360 =0-92 Tail/Ucc 260 times

Soo Probability of occurrence of head and tail
is?
@ for aur gee A Hr i AT wA?

L44) 0.48, 0.52 (b) 0.52, 0.48
(c) 1,0 (d) 0.50, 0.50

FOR VIDEO SOLUTION - CLICK HERE



https://youtu.be/CH3METQoWl0
https://youtu.be/CH3METQoWl0
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Two coins are tossed simultaneously 1000
times with the frequency of different
outcomes:

al ¥t & Th 1Y 1000 IR ST AT & ab

gRomH A% utg aa &

Two heads 210 times
One head 550 times
No head 240 times
Find the probability of following

faF &r giiaer JIg FU?

2\‘(——— (a) Getting two tail / & Ucc urd il <l

490 _ o
(ow oHHmwaﬂﬁzﬁr ('TQ'\{T)

(b) Getting at least one tail/ &H H HH Th



3 coins are tossed simultaneously 200
times with the following frequencies of
different outcomes?

3 fATFR A 200 IR TH 1Y STl ATdT & al

e LR T T TTT

Outcome: 3 heads 2 heads 1 head no head
Frequency: 23 72 Cif § 28

Find the probability/ Ui JATd 1P

(a) Getting no tail —> ==_ A3 =-\IT

(b) Getting 1 tail —— 30 ‘\’0: -
N

[ 1

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

1000 family with 2 children were selected
randomly, and the following data ware
recorded:

2 gTa! drel 1000 URAR P Feeadn AT STl §

ar f@ea aRoma Ut @

| ‘ %E T 4B @R
No. of boys in family 1 2
No. of family 140 560 300
Find the probability of
(if a family is randomly selected)

faF & o Ara AU Ife T aRar &Y el
ST &7

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0
https://youtu.be/CH3METQoWl0

¢ (qu BB) 4%&— (a) No. of family having at least 1 boy/ &&
.35:0'86  $ 1 TS dqel TNAN

g (b) No. of family having at most 1 boy/
SIIET 8 ST 1 o3 el URaR
lovey

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

The percentage of marks obtained by a
student in the monthly unit test are given

below:

U BT & gRT ANPD TRET A Urd Y 3T 3Hb
gfaed & ard few 97 &

Unit Test | 11 111 IV V

% obtained 58 74 76 62 85
Find the probability that the students get

Y JoTRT AT B I BTF Bl

5 & (a) first class i.e., at least 60% marks
2 &—|(b) Between 70% and 80% marks
» (c) distinction i.e., 75% or above —, 2@

(d) Less than 65% marks -—5"7&,.



Fifty seeds were selected at random from
each of 5 bags of seeds, and were kept
under standardised conditions favourable
to germination. After 20 days the number
of seeds which had germinated in each
collection were counted and recorded as
follows:

st it 5 Aferdt & @ uAe ¥ 50 dIF TeTEA
T F g 9T, AR 3e¢ IGRUT B AR
Adhpd TRIEAfAA # w@r mar| 20 et &
e U TR A JPRa el hr FEAT H
orEr i 78 3R 5§ UBR g fomar I



Bag 1 2 3 4 S
Germinated seed 40 48 42 39 41
What is the probability of germination of/

3R B & ol = §

%—. & (1) more than 40 seeds in a bag.
o 4,-(2) 49 seeds in a bag.

|= € &—(3) more than 35 seeds in a bag.

/(4] at least 40 seeds in a bag

s
-S‘:L / (S) at most 40 seeds in a bag.

<.
S

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

The probability of an impossible event is

WEHG T 1 UTihdT g
(a) 1 BT 0
(c) less than O (d) greater than O

®

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

The probability of a certain event is

fopdt AT gear & A fr wiRAr g &y
(a) O AbT 1

(c) greaterthan 1 (d)less than O

®

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

The probability of an event of a trial is

freY oY gear & g i R Jrg &=

(a) 1 (b) O
AE€) less than 1 (d) more than 1

S

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Which of the following cannot be the
probability of an event?

[dFd & O Pl A1 fhdr gear & gied g 6l
OTRThT el & Hehal?

(8) 5 (b) 5

(d) 1

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Two coins are tossed simultaneously. The
probability of getting at most one head is?

&Y fAahl B Th TATY 3BT ST & [HTAhaA

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A coin is tossed 1000 times, if the
probability of getting a tail is 3/8. How
many times head is obtained?

Udh ffddh HI 1000 IR 3BTl IT dd Uee Uid

Yolovg T h(3/8) o et aw o o
23T
.o (a) 525 (b) 375

¢) 625 (d) 725
[oNWXS V@

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A dice is rolled 600 times and the
occurrence of the outcomes 1, 2, 3,4, 5
and 6 are given below:

U [Adeh Bl 600 IR 3STeAT 91T ar 1, 2, 3, 4,

5 JUT 6 3T I I&AT_TAFT 2?
s ‘/E i
Outcome 1 2 3 4 S5 6

l,, Frequency 200 30 120 100 50 100
6 o0 D The probability of getting a prime number

1S
Ué) é@ (b) >

49 39
i s
() 60 (d) 125

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A bag contains 50 coins and each coin is
marked from 51 to 100 One coin is picked
at random the probabili hat the number

\—’_s']_| onthecmnl
(v
' e o Waﬂa?rso‘ii‘m%ﬁ%mdu{mﬁmoaiﬁaﬁ‘r

gege fordy Rl § Afe v feRpr Ieeoar ¥
10 8 T T At feh W HHTST HEAT AT g Hr

P0 RISt T P(?):go-/ - ::.j,

s> " @

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Uloo-‘)(

l{ﬂtﬁ 1200
=30 Yhy

PRH)- %
0

Three biased coins were tossed 800 times
simultaneously. The outcomes are given in
the following table.

dred T & 800 IR 3BTl I1AT ol TROTH
Te0Fe T §C e T HTT HHT

Outcomes no head 1 head 2 head
Frequency 120 280 X
If the probability of occurrence of two
heads is thrice that of all heads then value
of x is?

P(?,H):%N’RQ"QQO-QL Ife ar R utg wa fr iR ar R um

:‘m-x
&

A I UIRPI H 3 I & al x Bl A A
Giny)
(a) 150 (b) 240

«A<) 300 (d) 360



A bag contains 100 bulbs out of which 30
are bad ones. A bulb is taken out of the
bag at random. The probability of selected
bulb is to be good one is

Th &9 #A 100 dod & o 8H & 30 T &, Udh
Jod P JETodT TT F AT I-T dl 38h el

gl hr BCGIE]
(a) 0.50 0.70

(c) 0.30 (d) None of these

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A number is chosen at random from the
numbers -5, -4, -3, -2,-1,0, 1, 2, 3, 4, 5.

)L I’L D‘L Then the probability that square of this
IQ—I : no. is less than or equal to 1 is?

g&ai3 -5, -4, -3,-2,-1,0,1,2,3,4,53 °
Th HEIT Pl AT AT & dl UIAhT adisd Iic
g A FEIT BT G 1 AT 1 BA @

(@) = \m’%

8 7
4 d =
© d)

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

In a single throw of two dice, the

N probability of getting 6 as a product of two
6 — Gz"" 36  number obtained is:

gl UrEY &l Uh |1Y 3STell STl & al alar arar
TR UTH HEIIHT BT UG 6 &N SHh! UTTAeh
\ qAT3?

36 E‘- (a) g'-':"('i-“l‘l..-'/. () 2 2 =027 N

W %.:_ \l. Wil .2/ - G5 §8%8.. . .7/,

©

5

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

The probability of getting a bad apple in a
box of 400 apples is 0.035. The total
number of bad apples is

400 99 drel fhdl o1 A 8 Th W

fArera & urRer 0.035 & aF &1 & W9 A9
B' 6&‘{0’9 I GEIT AT U

@ (@) 7 e 14
(c) 21 (d) 28

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

2 Two dice are thrown together. The

G - 26 probability of getting the difference of
numbers on their upper faces equal to 2 is:
13 3 al U U |1y b S &1 3 ST Hofdhl W
3 A FEHT B IR 2 % R G B WA ¥
32 23 5 4
we 4y 222Wg ®) 3

— = 9
(©) X - @

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

From the letters of the ‘MOBILE’ if the
letter is selected what is the probability
that it is a vowel?

. gf¢ Aeq ‘MOBILE’ & &R & & &g &R el
S STl & af 39 a1d & w1 HifSw Hr g
AT HER FR BAM?
1 4
(a) 3 (b);®
3 1
() - )

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0
https://youtu.be/CH3METQoWl0

A number was chosen at random from first
300 three-digit numbers. The probability

‘ﬁ,-—'—'-;, 319 that the selected number has zero at unit
] N0.-... 390 place is:

AP Qandsst 300 AT 3 Y TEI ¥ B T
s ane 32
g‘gg\ﬂo—ﬁb IO AT gell STl & d &A1 & gehlg & 3P &

3o @R A e i Hfwe
300 gL b) =

1 1
\“E @ L

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A three-digit no is chosen at random, the
probability that it is divisible by both 2
and 3 is:

U did 37l Bl &A1 Bl TGz Il ATl &
dr &A1 & 2 AT 3 e & faafaa g &
OTiIhT gref?

(@) 3 (b) 3




x=ABCDEF.......... Z, A letter is selected at
random from the letters in odd position.
The probability that it is a vowel is?

gfe¢ x=ABCDEF......... Z, # ¥ dI5 3eR faus
?an?rmﬁgmama‘rafm%mmzﬁr
T wm S ‘ 139?2

5
Liay - b) 33

@(c) - (@




100 cards marked with numbers 1 to 100
are placed in a box. If a card is selected
randomly from the box, then the
probability that the number on the
selected card is a perfect square is:

gfe 100 @1s WX 1 ¥ oidK 100 dd 3ifehd fomar
ST JYUT 39H § Uh IS IGeodl ¥0 § Il
ST oY @15 W fordt d&ar & gat gl T arfh
SIGECTiN

1 1
(a) 100 (b) 25
1

S
% d =2
10 () 10



One ticket is drawn from a bag containing
70 tickets numbered 1 to 70. The
probability that the drawn ticket bears a
number which is a multiple of 5 or 7 is:

70 fCdhe | ¥ T fehe &l AT JAT & ol W
1 & 70 & AHfhd & O YA T fehe W 3ifehd
massm?aaqnmaﬁzﬁruﬁmaﬁﬁ?

1

(&) - () - @
6

) 79




In a single throw of a dice, find the
probability of getting a number:

Q,};%"l,f,éj Teh UTH &l 30T W UTH AT Sl IR Al
G,
&—— (1) greater than 2/ 2 ¥ SICT
¢~ (2) less than or equal to 2/2 ¥ & I RN
¢— (3) Not greater than 2/ 2 & TeT gl

o

‘.
2
€



An unbiased dice is thrown. What is the
w probability of getting.
Th O &l 3STell T, dl e 6 uridhr o
grafr?
—%— &—— (1) An even number/Tdh TH J&IT
% &—— (2) A multiple of 3/ 3 &T I[UTS
(3). An even no. or multiple of 3/ ¥H JEIT
Pl LY N
’_l_ (4) An even number and a multiple of 3/
qE Svan 3 &1 IO




% & (5) Anumber 3or4/ 3 I 4 A ¥ &g Th
%_ &—16) An odd number/ TdUH FE&IT
z:j_e(ﬂ A number less than 5/ 5 @ &H TEAT

Q (8) A number greater than 3/ 3 @ Il
g
e q&T

< V (9) A number between 3 and 6/ 3 IR 6 &

S du oS ge



2 Three unbiased coins are tossed together
Q-'"’BCMU' find the probability of getting

HH e THahl B Th 1Y STl AT & o e
% $r mi¥dr aarsa?
718 (1) All head / T3 ﬁm—,__\__
T H (2) one head/ U&h . 8 _._.3§
TTHv (3) two head/ & R ——> %_
T TT (4) atleast two heads/ &F & &H & A

(?HWS“) ) ___:&_
R



One card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to
be drawn. Find the probability that the
card drawn is:

52 oI & UAr &l 33T @ Tk d1l [Aehrar JArar
& dar gar & urRer Arg HifSw Hr Ferer =

e QG (1) An Ace/’-éi_
— 26442 52 &—(2) Red card
'é.‘;*__ %2‘- &——(3) Either red or king
(4) red and a king
(5) a face card
W(G) a red face card—-)‘s_
4—(7) 2 of spades 32
Q—--——(8) 10 of a black suit




A card is drawn at random from a pack of

52 cards. Find the probability that the
card drawn is:

52 1Y & Udl ¥ U Uar [Adrem =am ar Aol
T Ud & e gl dr Uik Ard P

g &— (1) A black king QL‘\'W’D‘
(2) Either a black card or a king”’

_2 «—(3)black and a king ’Q{*

S . _
(4) a n or a kin 4
);% /(5) either a heart nor a ki @ork)ﬁ"?
P« K) -'-?‘iﬂ_':ﬁi (6) spa:e or g AN IZEQ_ Yy*

Sy ¥22b (7) Neither an Ace nor a'king -



gG-I-H—Q.; T 8) Neither a red card nor a queen
S'L\)"‘n’g: ) qu

9) Other than an Ace —» &% /5 2_
(10) A ten —>Y/5 2%

(11) A spade—>[3/9 2

(12) A black card —9%/5 2-

(13) The seven of clubs —» )§7_
(14) Jack —> Y5

(15) Ace of spades —>V¢2

(16) A queen—)ﬁs—.-,_

(17) A heart —> 3

(18) A red card —_’%LL

‘SHSL' € (19) Neither a king nor a queen



Five cards: Ten, Jack, Queen, King and
Ace of diamonds are shifted well. One card
is picked at random:

UTd Ud: SIIAUS & &gdl, S, Jat, Tl aodr
ST I Tl e 8 A IW 3T Jaq1 U

IS ST 34T dr?

(1) What is the probability of that card is a
queen.

3SIQ I Ud &b AT alad Dl UTTAHI AT @ef?

(2) King is drawn first and put aside. What
is the probability that 224 card picked up

is
) Ace (b) King O



TS T Tl 3BT 3HeraT R feam aram qar gat
T fAerer T @ g T &
(a) 3FHRT (b) ST &l &I UTiAHI Far glefr?



From a pack of 52 playing cards Jacks,
_ Md - !m i Bueens, ngs, and aces of red colour are
59‘ g removed. From the remaining, a card is
drawn. Find the probability that the card

Q (o~ drawn is:

Yy 52 T & U Y UF M [ e W1 & e,
1R T[T, T[T AT Fah gl foiw arw, qar a gu
Yy H1s 8 Th drs fAbre 11 al fAdrel MW IS &

@I I UTRIehr P
’; a) A black queen/ T& &l AT
l{q é\( ) A red card/ Udh ofTel Udl ,_g_)__
(c) A black jack/ Tdh &ldll I L‘\(

(d) A face picture card



9:?’—-1-3 ‘When three coins are tossed
Y Find the probability J/
(1) 3 Heads —»
(2) 3 tails -_-—-91/3
(3) 2 head — %

Ll (4) 2 tail — %
+TT (5) at least 2 heads — 7
(6) at least 2 tails — '? __-}
(7) at most two heads—y\"" i
£ (8) at most two tails— ]—,\g _.'f
R (9) at least 1 head — |- _%

(13) a least one head and one tail (10) at least 1 tail —, |—J§ ...--
(14) No ta:l”? .R“ (11) at most 1 head \’i &
(15) no head—,, )3 -N (12) at most 1 tall-:%



R

\\

39
32

There are 7 purple clips and 5 brown clips.
Two clips are selected one by one without
replacement. Find the probability that the
first is brown ang the second is purple.

7 S fFerg 3R 5 s34 [Fau &1 ufasumaa &
Tt 1 fFerT Uh-Ueh X el STl &1 Wi

w1 Hifore 6 ogelr o & IR @l dal R

(a) 1/35 (b) 35/132
(c) 1/132 (d) 35/144




'3
bl — < =303

SBCL ,\)6;37(

——_TH §?
§%121 @ (b) 3/23

A jar contains 63 balls (1,2,3,....... 63). Twc
balls are picked at random from the jar
one after one and without any
replacement. What is the probability that
the nubsonboth balls drawn is even?

Uh IR # 63 7 (1,2,3,....... 63) %l Th &
dic U 3R foar foedr ufdTyaa & SR & e
el A Teioad FU A APrem AT & TN

Mwu@m%ﬁ?mﬁéaﬁ?ﬂﬂa’rﬁ%

(c) S5/63 (d) 19/63



The probability of Sita, Gita and Mita
passing a test is 60%, 40% and 20%
respectively. What is the probability that

at Sita and Gita w__ ass the test and Mita
will not? 3*&0'/ :

m,mmmﬁwuﬂmﬁﬁhﬁaﬁ
I UTITABdT HAA: 60%, 40% 3T 20% &I
g T UGl & b diar 3 afar adem

. Org &Y ot AR Hrar agi?

(a) 38.4% (b) 60% @
(c) 4.8% () 19.2°



‘There are 30 students in a class,

15 are

boys and 15 are girls. In the final exam, 5
boys and 4 girls made an A grade. If a
student is chosen at random from the
class, what is the probability of choosing a

girln 'A grade student?

U el H 30 B1F &, 15 dddh ¢ 3R

15

asfehar &1 Jfax qlier # 5 a3al 3R 4 oIsfhal

J T 9% urg fhar| Ife T o1 Bl &

T |

e & F AT STl &, dl Teh oIl AT 'T

U ' eIl DI U1 FT &2
(a) 1/4 (b) 3/10@
(c) 1/3 {d) 2/3



If P(A)=7/13,P (B) =9/13 and P(A NB) =
4/13, find the value of P(A|B).

afe P(A) = 7/13, P (B) = 9/13 3iR P(ANB) =
4/13 &, dl P(A|B) & & A1d HIfAT|

Pens)pameglys b

919
MBI () D,

%
x



From a well shuffled pack of 52 cards,
three cards are drawn at random. Find the
probability of drawing an ace, a king and a
jack.

52 Tdl Pl Teh TS alg el 913 33T # 4
dld Ud Ireieoe ®U O fAde Jd &1 U
SeFepT, A1eLNE AR o [Adrea fr wRear ag
HhIfaT]

16 16
A (b) -
9225 625

16
(c)
3125

(d) none of these



Four cards are drawn at random from a
pack of 52 cards. Find the probability of
getting all the four cards of same number.

52 Udl 6l Th 338 A ¥ IR Ud Areesdl

_L?)_ fAerel JTa &1 AT g=ar & g IR P Ui
SQC\.‘ Bl DI YRl AT hITAT|
I C R e
@) 665 "ﬂ‘rzoszs
(c) ¢ (d) none of these
25850

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Two cards are drawn at random from a
P (RR): QGC?. —2&(2‘5' well-shuffled pack of 52 cards. What is the
— m—

QC-;_ s2.XS| probability that either both are redhoth

are gueens?
P(QQ)-—E(_C.?_-.':'—\!EZ?TQT & 52 Tdl $I TSI e $hel s T3S A 4

al U Ireeadr fasre JA1a &1 3T =T

P(RRGQQ); QC-;_ '-'-'-____L UIRIhdT & o6 a1 ol &l o § 31 &l Il &2
sl

- 3 _ cor =S p(RRY6Q
2. @ 112 21
e, ’

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Two cards are drawn at random from a
pack of 52 cards. What is the probability

that either both are black of both are
v

jacks? y
52 Tdl 6l T 138 A § & Ud Teeod &0
el S &1 &1 uiRear § 6 ar ar et
FTel & AT Gl Sih &P

65
(@) o vﬁf%

17
(C]E (d) None

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

1
The probability that A hits a target is 3

and the probability that B hits it, is % ‘

What is the probability that the target will
be hit, if each one of A and B shoots the
target?

Amﬁﬂﬁa&ﬂaﬁsﬁaﬁaﬁrm%%m

Baamﬁaﬁrmﬁm%%wfaamsﬁﬁ

Ucddh o8 Pl Hedl &, dl &g Pl A h
UTRIhdT =T &2




In class, 30% of students study Hindi, 45%
study Maths, and 15% study both Hindi

and Maths. If a student is randomly
selected, what is the probability that
he/she study Hindi or maths?

FeTT A, 30% BT feel Ued &, 45% 0T Usd
&, A 15% feal 3R 71f01g a1l ued &1 Iig
U BT &l Ieiode & 8 AT AT &, dl
sgh! FIT UTRIhdT & b de fear AT AfOIT ol

HETIAA HAT/HLAT &P @
(@) 1/5 Pr3/5

(c) 2/5 (d) 2/7




There are 3 blue socks, S brown socks, and
4 white socks in a drawer. If two socks are
picked up randomly, what is the
probability that the selected socks are of
the same color?

U Il H 3 dlel A, 5 3T Al 3R 4 The
Aat &1 I a1 A Iefod § 8 330 I &,
?aﬁwmﬁr%ﬁﬁgﬁmm@rwﬁmas

‘o (©
(a) 1 (b) O
(h—-—1 9/66

(d) 4/11




A box contains 5 white and 4 black balls.
Two balls are picked together at random
from the box. What is the probability that
these two balls are of different colours?

U f3ed # 5 The 3 4 Frell 3¢ & dig I
al el B Uh Y Tgdd 7 U Adrer Jar
¥ a4 axat el & rerT-3reT T & S B F

UTTAehdl &P
(a) 1/2 (b) 5/18
(c) 1/3 ,\J;H 5/9

0



A bag contains 7 red and 4 blue balls. Two
balls are drawn at random with
replacement. The probability of getting the
balls of different colours is:

uh dt A 7 ored 3R 4 Al 3¢ &1 ufaruma
& TIY TTeesd &7 F g el dl [Adrar S
ol fafdea W & 9l urg e T WiREar §:

28 56
(a) 121 Vtﬁ)’ 121

(d) None of these




A and B are two events such that P(B) =

P(ﬂn B)":- P@)K @) 0.4 and P(AUB) = 0.6. If A and B are

.. independent, then P(A) is
AR BE gcAT ¢ S8 P (B) = 0.4 3R P

P(ﬂUB)-—Tf(ﬂJ'W(B)" P@)Kf fﬁ&s) = 0.6 I A 3R BTadd ¢, dl P(A) &

06= XroU-xo (@) P
02 — (6% n

© 5 @

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

In a room there are eight couples. Out of
them if 4 people are selected at random,
the probwt they may be couples is

Uh Y H S IS (FU) &l 3dH & I 4
AT &l AEeSd §T F AT SATAT &, dl Sedh

SIS (PUd) Bl T UrRAedr &

8 8
(a) —= (b) —=
16, 16,

8 8
() BC 16«:z
C, Cq

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

Three mangoes and three apples are in
box. If two fruits are chosen at random,

the probability that one is a mango and

the other is an apple is
PCM&,A:} 3 A il 3MH 3R 9 ¥ g1 IS & Bl Hl

%Cﬂ(?)C| Irefesd U H YT ST &, dl T 3H 3R

-—zr—— GHU A A I UTiBdT §
Ca (a) 2/3 \ABT3/5
3R 13 (d) 4/5

FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

A bag contains 2 red, 3 green and 2 blue
balls. Two balls are drawn at random. What

R C' B is the probability that none of the balls
o ? Q drawn is. blue? o
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In a class, there are 15 boys and 10 girls.
Three students are selected at random.

\5 The probability that 1 glrs are

'OCI >< Cz_ selected is:
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FOR VIDEO SOLUTION - CLICK HERE


https://youtu.be/CH3METQoWl0

ﬁ An urn contains ‘G/red, 4 blue, 2 green and
{?,\”& 3 Xglww marbles. If 4 marbles are picked

- up at random, what is the probability that
@\ at least one of them is blue?
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